
Number bonds 13.01.21 

Can you find what number bond is shown in the ten frame? 

 There are 3 blue counters.  

 There are 4 red counters. 

 Altogether there are 7 counters. 

 3 + ____ = 7  ____ + 3 = 7 

     

     

 a.  

 There are 6 blue counters.  

 There are 3 red counters. 

 Altogether there are 9 counters. 

  

     

     

 b.  

6 + ____ = _____  3 + ____ = _____ 

 There are ____ blue counters. 
 There are ____ red counters. 

 Altogether there are ____ counters. 

     

     

 c.  

____ + ____ = _____  _____ + ____ = _____ 

 There are ____ blue counters. 
 There are ____ red counters. 

 Altogether there are ____ counters. 

     

     

 d.   

____ + ____ = _____  _____ + ____ = _____ 



Number bonds 13.01.21 

Can you find what number bond is shown in the ten frame? 

 There are 12 blue counters.  

 There are 6 red counters. 

 Altogether there are 18 counters. 

   12 + 6 = ____     6 + 12 = ____ 

     

     

 a.  

 There are 6 blue counters.  

 There are _____ red counters. 

  Altogether there are ___ counters. 

     

     

 b.  

____ + ____ = _____  _____ + ____ = _____ 

 There are ____ blue counters. 
 There are ____ red counters. 

 Altogether there are ____ counters. 

     

     

 c.  

____ + ____ = _____  _____ + ____ = _____ 

 There are ____ blue counters. 
 There are ____ red counters. 

 Altogether there are ____ counters. 

  

     

     

d.   

____ + ____ = _____  _____ + ____ = _____ 
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a.  

     

     

 b.    There are ____ blue counters.  

 There are _____ red counters. 

  Altogether there are ____ counters. 

____ + ____ = _____       _____ + ____ = _____ 

 There are ____ blue counters. 
 There are ____ red counters. 

 Altogether there are ____ counters. 

     

     

 c.  

____ + ____ = _____  _____ + ____ = _____ 

 There are ____ blue counters. 
 There are ____ red counters. 

 Altogether there are ____ counters. 

  

     

     

d.   

____ + ____ = _____  _____ + ____ = _____ 

     

     

Can you find what number bond is shown in the ten frame? 

 There are ____ blue counters.  
 There  are____ red counters.  

  Altogether there are ____ counters. 

     

     

     

     

 

     

     

 

____ + ____ = _____  _____ + ____ = _____ 


